Chapter 2: Topology on metric spaces and normed spaces
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Exercise 2.1: Let (M, d) be a metric space. Define

d(z,y)
d =—"77 Y M.
(x7y) 1+d(x’y)7 aj?:ye

Show that (M,d’) is also a metric space. Note that the metric space (M,d’) is bounded, since 0 <
d(z,y) < 1forallz,y € M.

Exercise 2.2 : Let n > 0 be an integer and fix ag,...,a, € R be pairwise distinct real numbers. Let
R,,[X] be the vector space consisting of real polynomials of degree at most n, that is

R,[X] = {chXk:ck eR,0<Ek <n}.
k=0

Define
I|IP|| := max |P(a;)|, VP €R,[X].
0<igsn

Show that ||-|| is a norm on R,,[X].

Exercise 2.3 : Check that the maps ||-
norms on K[X].

1> |Illy and ||-|| ., defined in Example 2.1.9 (a) and (b) are indeed

Exercise 2.4 : On a Euclidean space (V, (-, -)), let us define
|zl =1/ (x,x), VzeR"
Fixx,y e V.
(1) Explain why the function A — ||z + Ay||? is a non-negative function.

(2) Deduce the Cauchy-Schwarz inequality |(z, y)| < ||z|| |y||.

(3) Show the triangular inequality ||z + y|| < ||z]| + ||yl
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Exercise 2.5 : Let (V,||-||) be a normed space.

(1) Suppose that the norm ||-|| is induced by an inner product in the sense of Proposition 2.1.12. Show
that the norm satisfies the parallelogram law,

lz +yll* + llz = yl* = 2|z + 2 lyl*, Va,yeV. (2.1)

(2) Suppose that the norm ||-|| satisfies the parallelogram law (2.1). Show that V' is Euclidean, that is,
there exists an inner product (-, -) that induces the norm ||-|| in the sense of Proposition 2.1.12. We
may want to consider

2 2 2 2 2
(@,y) = 1(lz +yl” = llz =917 = 3z +yI* = l2l* = lyl*), z,yeV.

(3) Is the vector space C([0, 1], R) equipped with the norm ||-|| , a Euclidean space?

Exercise 2.6 : In R?, draw the centered unit closed balls By, (0, 1), By, (0, 1), and Bx_ (0, 1), for the
norms defined as below,

Ni(z1,x2) = |21] + |22], No(z1,19) = \/:r% + x%, and Noo(x1,2) = max |z1], |22

Give the inclusion relations between these closed unit balls.

Exercise 2.7 : Show that in a normed space, closure of open ball is the closed ball. In other words, given

a normed space V, show that B(a,r) = B(a,r) foralla € V and r > 0.

Exercise 2.8 (Question 2.1.26) : Is any union of closed sets still a closed set? If yes, please prove it;
otherwise, please give a counterexample.

Exercise 2.9 : Show that in R, apart from the emptyset & and the full space R, any other subset cannot
be open and close at the same time. Is there a similar statement for R??

Exercise 2.10 : Let (M, d) be a metric space and A C M be a closed subset. Show that A can be written
as a countably infinite intersection of open sets.

Exercise 2.11:Let A C M and € M. Then, the following properties are equivalent.
(1) z € A.

(2) There exists € > 0 such that B(z,e) C A

Exercise 2.12 : Let (M, d) be a metric space and A C M be a subset. Use double inclusion to prove that

int A= M\cl(M\A) and int(M\A)= M\cl(A).

Last modified: 13:42 on Wednesday 23" October, 2024

BrE25 1 o (V| |) AEEZEM -
(1) BREEH ||| RRIMBEANBERN - Ed@E 2112 - BHLEHEREFTMERIEER !

lz +yl* + llz —ylI* = 2||2]* + 2|lyll*,  Va,y V. (21)

(2) REREEH ||| WE (2.1) FRFTEEFRESI - AV 2ERKZER - UEER - FER
1 (-, ) SR || SEBEAEEEME 2.1.12 FRNAFRRFE - HfITUZEE

2 2 2 2 2
(@,y) = 1(lz +yl” = llz =y = 3(lz +yI* = l2l* = lyl*), z,yeV.

3) EMEEZERE C([0,1],R) LT |||, ESEEREKZERES ?

B 26 @ ER? SHAFDBERHRWEPEMURIK
Nl(l‘l,l‘Q) = |.’E1‘+’CL‘2|, NQ(JJl,ZL‘Q) = \/$%+l‘%, L}Ui Noo(Sﬂl,SCQ) :max|x1],\x2|,
WIS LA R BB AIARK 2z R B 2 RAR o

BE 2.7 : EAEHEEZET - RIKHMEEEMIK - R05ER - RMEERBERERNREZ

MVA BRERaecV kr >0 FME B(a,r) = Bla,r) °

B8 [ME2120] @ #ik MEEZERMEMNBENZRE) BEER/E?NRE » HEHAL
Rt 5 MNRAZ - FBRE—ERH -

Br29 : BAERP  RTZEES o UREZH R - FRHMFESEEIFARZREHERAE -
£ R? RERUBIRGIS ?

" 2.10 © 9 (M,d) BREEME A C M ABTES - B A TURIETHEES EREN
54K -

BE211: SACMKze M- BTHMHEEE :
(1) zeAo

(2 FEe> 03 B(r,e) CAe

B 212 1 § (M, d) REEZEBUR AC M BFES - EREERTHIUKREN

int A = M\cl(M\A) B int(M\A) = M\ cl(A).

BRIBIB : 20244 10 H 23 H 13:42



Exercise 2.13 : Let (M, d) be a metric space. Consider two subsets A and B of M such that int A =
int B=g.

(1) Show that int(AU B) = @ if A is closed in M.

(2) Given an example for which we have int(A U B) = M.

Exercise 2.14 : Let (M, d) be a metric space and A C M be a subset.
(1) Show that if A is open, then int(0A) = @.

(2) When do we have int(0A) = M?

Exercise 2.15 : Let (M, d) be a metric space and A C M be a subset. Show that 94 = AN M\ A and
deduce that 0A = 9(M\ A).

Exercise 2.16 : Let A and B be subsets in a metric space (M, d). Suppose that AN B = &. Show that
J(AUB)=0AUJIB.

Exercise 2.17 : Let (M, d) be a metric space. Consider a set /, and a family (A;);cs of subsets of M that
are indexed by the elements of /.

(1) Suppose that I is finite, for example I = {1,...,n} for some integer n > 1. Show that

int ( m Az) = ﬂ(int Az)

icl iel
(2) Suppose that [ is infinite. Show that

int ( ﬂ Al) - ﬂ(int Az)

el i€l
(3) Find an example where the equality does not hold in (2).

(4) Without any additional assumption on I, show that

U(int 4) Cint ([ 4)-

iel i€l
(5) Find an example with finite I such that the equality does not hold in (4).

Exercise 2.18 : Let (M, d) be a metric space and S C T' C U be subsets of M. Suppose that S is dense
in T and T is dense in U, show that S is also dense in U.

Exercise 2.19 : A metric space (M, d) is said to be separable (F]43') if there exists a countable subset
A C M that is dense in M. Show that every Euclidean space R" is separable.
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Exercise 2.20 : The Bolzano-Weierstrafl theorem (Theorem 2.2.5) is proven for R", equiped with the
metric induced by its Euclidean norm. If we equip R” with other distances which are also induced by
norms, such as ||-||; or ||-|| ., does the theorem still hold? And how about with the discrete distance given

by d(.%', y) = nx#y?

Exercise 2.21 (Cantor set) : We define a sequence of subsets of R by induction,
Co=1[0,1], Cpy1=3CoU(3Cr+32), Yn=0.
Let C := Nyp>0Ch.
(1) Show that the subset C), is closed, and C,, 11 C C, for every n > 0.
(2) Show that the countable intersection C is nonempty.

Given z € [0, 1], we may define its ternary expansion,

x=0.z12923 -+ = Z :zrk?)_k7 (2.2)
k>1

where we have xj, € {0, 1,2} for all £ > 1. Note that this expansion may not be unique.

(3) In this question, we want to show the uncountability of C.

(a) Show that if x € C, then there exists a ternary expansion Eq. (2.2) of x for which we have
xp=0or2forallk > 1

(b) Given x € [0, 1] and suppose that the ternary expansion Eq. (2.2) of z is such that x;, = 0 or
2forall k > 1. Show that z € C.

(c) For which x € C, the ternary expansion is not unique?

(d) Conclude.
(4) Given 0 < a < b < 1, is the subset C N [a, b] dense in [a, b]?

Given a segment I = [a, b] in [0, 1], let us define its length to be ¢(I) := b — a. Given n > 1 pairwise
disjoint segments (I; = [a;, bi])1<i<n in [0, 1], we define the length of I := U" | I; as ¢(I) := Y -, ¢(I;).
Given a subset A in [0, 1], we say that it is of length zero if

inf{¢(I): ACT=U;I,n>1,Is are segments} = 0,
where LI means that the segments form a pairwise disjoint union.
(5) Find ¢(C,,) for all n > 0 and show that C is of length zero.

The set C we constructed above is called Cantor set, which is a nonempty uncountable closed set in [0, 1],
of length 0, thus not containing any interval.
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Exercise 2.22 : Let (M, d) be a metric space and S C M be an open subset. For any subset A C S, show
that A is open in S if and only if it is open in M.

Exercise 2.23 : On the space (0, 1], we may consider the topology induced by the metric space (R, | - |)
as mentioned in Example 2.3.2. Alternatively, we may also define a distance d on (0, 1], given by

d(e,y) = - ;' va,y € (0,1,

(1) Letx € (0,1] and € > 0. Let B = BJ.|(z,¢) be the ball centered at z of radius ¢ for the metric | - |.
Show that for any y € B, we may find &’ > 0 such that

By(y,e') C B = BH(ZL‘,E).

(2) Show that an open ball in ((0, 1], d) is also an open ball in ((0, 1],] - |).

(3) Conclude that the metric spaces ((0,1],] - |) and ((0, 1], d) are topologically equivalent, that is, a
set A is open in one space if and only if it is also open in the other one.

(4) Is ((0, 1], d) a complete metric space? How about ((0, 1], - |)?

Exercise 2.24 : Let M be a set equipped with two distances d and d’. Suppose that the metric spaces
(M, d) and (M, d’) are topologically equivalent, i.e. the open sets in one space are also open in the other
space. Show that if a sequence (a,,),>1 converges in (M, d), then it also converges in (M, d').

Exercise 2.25 : Let M be a set that we equip with two uniformly equivalent distances d and d’. Show
that a sequence is Cauchy in (M, d) if and only if it is also Cauchy in (M, d’).

Exercise 2.26 : Let (M, d) be a metric space and C be the set of all the Cauchy sequences in M. Let us
define the function 6 : C x C — Ry as follows. For U = (un)n>1, V = (Up)n>1 € C, let

(U, V) = Jim d (U, vp).

(1) Show that 9 is well defined, symmetric, and satisfies the triangle inequality.

(2) U = (un)n>1, V = (vn)n>1,and S = (Sp)n>1 are in C and such that (U, V) = 0 and §(V, S) =
0, check that 6(U, S) = 0.

(3) Let U = (up)n>1, U = (u))n>1, V. = (vn)n>1, and V' = (v],)n>1 be sequences such that

6(U,U") = 0and §(V, V') = 0. Show that 6(U, V) = o(U", V).

We will see in Section 3.3 that the above steps are preliminary steps towards the completion of the metric

space (M, d).
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Exercise 2.27 : Find the upper limit and the lower limit of the following sequences. Do not forget to
justify how you obtain your results.

(—=1)" 1 n?+2n+1

n = ;b= ) n = yo = ———————=.
¢ n cos(n), ¢ sin(n) n(n + cos(n))

Exercise 2.28 : Find a sequence (ay),>1 in R such that lim inf,,_, a, = 0, limsup,,_,, a, = 1, and
that any number = € [0, 1] is an accmulation point of {a,, : n > 1}.

Exercise 2.29 : Given a bounded sequence (zy,)n>1 with lim,,_,oo (Zp+1 — 25 ) = 0. Show that any point
between ¢ := lim inf,,_,~ a,, and L := limsup,,_, . a,, are accumulation points of {a,, : n > 1}.

Exercise 2.30 : Let (a,,),,>1 be a sequence of positive real numbers. Let ¢ € (0, 1) and suppose that there

exists Ny > 1 such that

1 -
SO g ITE s (2.3)
an n

(1) Show that for any positive integer k > 1, we have

k—1 1—¢
ANg+k < 11;[0 (1 + n—i—i)aNO — k.

(2) Show that for z > 0, we have 1 4+ x < €”.

(3) Show that a,, —— —o0, and conclude that Eq. (2.3) cannot hold.

n—oo

(4) Deduce the following inequality,

(1 +an+1)" S

lim sup >

n— 00 (079

(5) Does there exist a sequence (a;,),>1 of positive real numbers for which the above inequality be-
comes an equality?

Exercise 2.31: Let (a,)n>1 be a sequence of positive real numbers.

(1) Prove the following inequality

oo Gntl . . . an+1
lim inf % < liminf(a, )™ < limsup(a,)"/™ < lim sup ———.
n—oo  Qp n—00 n—00 n—00 Qnp,

(2) Find a sequence (a,)n>1 that makes all the three above inequalities strict.

(3) Show that if the limit of “*** exists, then the limit of (an)'/™ also exists, and we have

. an+1 .
lim —* = lim (an)/".
n—oo @, n—00

(n!)l/n
n

(4) Does the sequence a,, = have a limit? If yes, find its value.
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Exercise 2.32 : Let a = (ay,)n>1 be a sequence with values in R. Show that the following properties are
equivalent.

(i) a does not have any subsequential limit in R.
(if) Any subsequence of @ is unbounded.

(iii) |ay| —— +oo when n — oc.
n—oo

Exercise 2.33 : Let (V, ||-||) be a normed vector space and f : E — E be the function

. T
L ]

VeeV, f(x)

(1) Show that f is a bijection between V and B(0, 1).

(2) Show that f and f~! are continuous.

Exercise 2.34 : Let (X, dx) and (Y, dy) be metric spaces, and f : X — Y be a function. Show that the
following properties are equivalent.

(i) f is continuous.
(ii) For any subset B C Y, we have f~1(B) C f~(B).
(iii) For any subset B C Y, we have f~!(int(B)) C int(f~1(B)).

(iv) For any subset A C X, we have f(A4) C f(A).

Exercise 2.35 : Let (V, ||-||) be a normed vector space over K = R or C. Show that the following two
maps are continuous

ExE — E and KxFE — FE
(x,y) — x4y ANz) = Az’

Exercise 2.36 : Let f : R — R be a continuous function such that

x+yy 1
Ve,yeR, f(=57) = 5(f(@) + 1)
(1) Show that the set D{p-27" : p € Z,n € Ny} is dense in R.
(2) Show that f(0) = f(1) = 0 implies that f = 0.

(3) Conclude that there exists a,b € R such that f(z) = ax + b.
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Exercise 2.37 : Let (M, d) be a metric space and A, B C M be two disjoint, closed, nonempty subsets.
Consider the map

w: M — R
x +— d(z,A)—d(z,B).
(1) Show that ¢ is continuous on M.
(2) Show that p(z) < 0 for z € A and p(x) > 0 for z € B.

(3) Deduce that there exist two disjoint open sets U, V' such that A C U and B C V.

Exercise 2.38 : Consider a closed set I and an open set U in a metric space (M, d) such that F* C U.
Show that there exists an open set V' satisfying

FCVCVCU.

Exercise 2.39 : Show that there is no continuous function f : R — R such that f(Q) C R\Q and
F(R\Q) C Q. Hint: see below'.

Exercise 2.40 : Consider the vector space V' = C(][0, 1], R) equipped with the norm ||-|| .. Show that the
function f + inf (o 1) f(z) is continuous.

Exercise 2.41 : Find an example of metric spaces (M1, dy ), (Ma, d2), and (Ma, dy) such that
« (Ma,dy) and (My, d5) are topologically equivalent,

« there exists a function f : (Mj,d;) — My such that f is uniformly continuous when My is
equipped with da, but not uniformly continuous when My is equipped with df.

You may get inspiration from Exercise 2.23.

Exercise 2.42 : Let X and Y be metric spaces and f : X — Y. The graph ([&]) of f is the set
Lpi={(z,y) e X xY 1y = f(z)}.
(1) Show that if f is continuous, then I'y is closed in X x Y.
(2) Find an example for which I'y is closed in X x Y without f being continuous.
(3) Show that f is continuous if and only if the following map is an homeomorphism,

X = Ff
o= (2 f(e)

!Use the intermediate-value theorem in R, and the fact that any nonempty interval of R contains uncountably infinite elements.
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Exercise 2.43 :

(1) Show that the open interval (—1,1) C R and R are homeomorphic, and write f : (—1,1) — R be
a homeomorphism.

(2) Let (ap)n>1 be a converging sequence in (—1, 1). Does the sequence (f(ay))n>1 converge?

(3) Let (apn)n>1 be a Cauchy sequence in (—1, 1). Is the sequence (f(ay))n>1 Cauchy?

Exercise 2.44 : Letn > 1 and (V1, 1), ..., (Vy, ¢n) be normed spaces. We consider the product space
V =Vi x--- x V,, and define the following maps on V/,

Ni(x) = ngi(mi), and Ny(z) = Zg@i(l‘i)?, Ve = (x1,...,2,) € V.
i=1 =1

Show that N7 and N5 are norms on V.

Exercise 2.45 : Check that the maps D; and Dy defined in Remark 2.6.3 are indeed distances on the
product space.

Exercise 2.46 : Given countably infinitely many metric spaces ((My,, dy,))n>1 Which are assumed to be
uniformly bounded, i.e.,
JA>0,Vn>1, §(M,) <A.

Define the product space M = [[,,~; M,, and the following function on M x M,

d(z,y) = Z 27"y (xn,yn), Vr,y € M.

n=>1

Show that d is a distance on M.

Exercise 247 :Let U= {z € C: |z| = 1}.

(1) Show that for any zy € U, the subset U\{zp} is connected. (Hint: show that it is arcwise con-
nected.)

(2) Construct a continuous bijective map from [0, 1) to U.
(3) Show that that there is no continuous bijective map from U to [0, 1].

(4) Deduce that U and [0, 1] are not homeomorphic.

Exercise 2.48 : Let (M, d) be a metric space, A and B be subsets of M. Suppose that B is connected and
A satisfies
Bnint(A) #2@ and BNint(M\A) # 2.

Show that B N 0A # @.
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Exercise 2.49 (Question 2.7.10) : Let (C;);er be a countable family of connected subsets, ie., [ =
{1,...,p} for some p > 1 or I = N. Suppose that for every i € I, i # 1, we have C;_1 N C; # &. Show
that C' = U;¢1C; is connected by rewriting the proof of Proposition 2.7.8.

Exercise 2.50 : Let (M, d) be a metric space. Show that the the following statements are equivalent.
(i) (M,d) is connected.
(ii) Every proper nonempty subset of M has nonempty boundary in M.

(iii) Any real-valued continuous function defined on M has intermediate value property. That is, for
any continuous function f : (M,d) — (R, |- |), if x € Ris such that f(a) < z < f(b) for some
a,b € M, thenx € f(M).

Exercise 2.51 : Let A and B be connected metric spaces. Let X C A and Y C B be proper subsets.
Show that C' := (A x B)\(X X Y) is connected in A x B. Why do we need to take X and Y to be

proper subsets?
Exercise 2.52 : Let A C R? be defined as follows,
A:={(0,0)} U{(z,sin(1/2)) : € (0,1]}.

We also define
A= {(x,sin(1/z)) : x € (0,1]}.

(1) Show that A’ is arcwise connected and deduce that it is connected.
(2) Show that A is not arcwise connected.

(3) Find A’ and deduce that A is connected.

Exercise 2.53 : In this exercise, we will distinguish the notion between two “equinumerous sets” and

“homeomorphic sets”.
(1) Given two disjoint sets A and B, show that P(A) x P(B) ~ P(AU B).
(2) Use the fact that R ~ P(N) to deduce that R? ~ R.

(3) Show that that there is no continuous bijective map from R? to R.
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Exercise 2.54 : Let (M, d) be a connected metric space and A C M be a closed subset of M. Suppose
that the boundary 0A is connected. Let f : A — D = {0, 1} be a continuous function.

(1) Show that f|54 is constant.
Without loss of generality, we may assume that f|54 = 0. Define the function g : M — D as below,
flx) ifxe A,
g(z) = (@) . .
0 ifx € A

(1) Show that g~ (@), g~ (D), g71({0}), and g~ ({1}) are closed subsets of M, and deduce that g is

continuous.
(2) Deduce that A is connected.

(3) If we remove the assumption that A C M is a closed subset, is it still true that A is connected?

Exercise 2.55:Let U = {z € C: |z| = 1} and f : U — R be a continuous function. Show that there
exists z € U such that f(2) = f(—2).

Last modified: 13:42 on Wednesday 23" October, 2024

11

BRE254 ¢ © (M, d) BEBNEEZTEUR AC M B MBEFES - BREBR 0A BEB
Yo f:A—D=1{0,1} BEERE -

(1) F8HH floa =EFE -

AR » BFIRTLURER floa =0 - BFIERRHE g: M - DT :

flz) BxeA,
9(z) = .
0 e A

(1) TR (@) g (D)~ g ({0}) UK g1 ({1}) & M HWEAFES » HILER ¢ SEER -
(2) #1F A ZEEN -

(3) MRFEFIBER TAC M BEMAFES) BIRE 48 TABEEN) BEMARE?

/

BE255 5 U={:cC:|zl=1})Bf:U—-REEEXNH - BWEEHE » c UFEH
f(z) = f(=2)°

BRIBIB : 20244 10 H 23 H 13:42



